S BRI S

— RIUEFE CRAIE/NEEA AR, Hp A — MR SR, 33

07y, &2

5 112|314 |5|6]|7]8]9/|10]|11

12 113 |14 | 15

S ESUERE CFA& MBI AT, B A BT T
AR 7R 2 45, MERHEAR A 1 5, 48R

AT B 2 7).

YN i

g 16 17 18 19 20
LS ABC AC BCD ABC ACD
= SEIRMAE (JL39 4, 210 22, 27, 28Mi%4 4y, 23, 24 R 547, 25816 4y, 26 87 40
S ER
21 (445 (97 249 C1973. 1 (2) 55
22 (44y) (5% 245) (D oD (2) B
23 (54r) (=170 (D =Z#HE (2) A& hn 3 @k
24 (445 (B2 14 (1) F-F, (2) T (3) A[kd (4) 75000000
25 (64r) (=149 (D fEFELE (23 (3) 0.6 K (4I7ACD (240
26 (64r) (=149 (D FEFHEgGMrE (2 B2ES () ) HE (5) AB (240)
27 (44r) (=140 (D WE  (2)A B)B _C
28 (343) (2140 (1) & F e 28 7 i H R 2 AT (20 A
3
Ly
UGV
Uw/ V
Ua/V
29 (343 (2140 (1) RS E@MEEHJBRL (2 Ky 3 C

M. BRE L (3% 470D

30 (449 (1) e =

3 &

(2) AnTLL

(B2 141)

(4) KHNVMH: Bk, il GHbERGEYES )

1/2




v AR (GET )

31 ft: (1) I,=1-1 =1A-0.6A = 0.4A
(34
U =U,=I,R, =04Ax30Q=12V (14
R=9-12V 10 (149
I, 0.6A
(2) W, =U,I,t =12V x0.4Ax30s =144] (14}
(2 R A B
32 (1) [Emg Gl VA% B 5 AR BE o A A A T IR S B ik iR i, @ vk SR i 2
e T RS E TR AL, B e PR TIPS (1 4D
7]

k
(2) P=p,gh=1x10’ %3x10%gx0.1m=1x103Pa (149

(3) MR BT R A8 S B ARSI ST S KN T HI AR E . BYIBE ) 5% KIS . ik
BT KA LR B2 AR AR 9T oS B, 52 o3l

By =G =G TGy =G ) HF =Gy Gy =G =Py V8

4510° k%3x3x104m3x10%g=3N

F,=F,=3N




	四、科普阅读（共4分）
	30（4分）
	（每空1分）
	（1）临界温度  （2）不可以  
	（3）乙        （4）大电流应用：超导发电、输电（其他答案合理均给分）
	五、计算题（共7分）

